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Answer Q 109 2, 33'or Q4,0 50r Q6,0 70r Q8.
Neat diagrams must.bé drawn whenever necessary.
Assume(suiiable data if necessary.

Explain Alpha - Beta Tree search and cutoff procedure in deatil with

example. 9]

What are the issues that need to beaddressed for solving esp efficiently?

Explain the solutions to them. 9]
OR

Explain in detail the concepts of back'tracking and constraint propagation
and solve the N-queen problem using these algorithms. [9]

Write a short note ot Monte{@arlo Tree search and list its limitations. [5]
Apply constraint satisfaétion method to solve following Problem

SEND + MORE =OMONEY. (TWO + TWO = FOUR, CROSS+
ROADS= DANGER) [4]

List the inference rules used in prepositional logic®Fxplairf them in detail
with suitable example. [9]

Explain syntax and semantics of First Orderf.ogio.in detail. [8]
OR
Detail the algorithm for deciding entailmeritin prepositional logic.  [8]

Explain knowledge representation strugture and compare them. [9]

PTO.



SPPU-TE-COMP-CONTENT - KSKA Git

05) a)

b)

06) 2)
b)

07) a)

b)

08) a)

b)

Explain Forward and Backward chaiiting. What factors justify whether
reasoning is tobe done in forward orbackward chaining. [9]

What are the reasoning patterns’in propositional logic? Explain them in

detail. 9]
OR

Explain unificatien algorithm with an example. [8]

Explain khhowledge representation structures and compare them. [7]

What@doyou mean by Ontology of situation calculus? [3]

Analyse Various planning approaches in detail. [9]

Discuss Al and its ethical concerns. Explain limifations of Al [8]
OR

Explain the terms for time and-scheduteifrom perspective of temporal

planning. [9]

Write a detailed note on Ad Architecture. [8]
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